Math 490C
Fall 2008
Quiz 6
1. Claims follow a Pareto distribution with θ = 10000 and α = 4.  You decide to discretize the distribution using a span of 300.  

A is the probability assigned to f(3000) in the discrete distribution if the Method of Rounding is used.

B is the probability assigned to f(3000) in the discrete distribution if the Method of Local Moment Matching is used with k = 1 (matching the total probability and the mean).

Calculate 100,000(B – A).

2. Dyson Insurance Company has 3 million of surplus at the end of 2007.  

Dyson collects a premium of 4 million at the beginning of each year.

Claims are paid at the end of each year and have the following distribution:

	Amount of Claim
	Probability

	0 
	.3

	5.1 million
	.5

	7.1 million
	.2


During the year, Dyson earns 10% interest.
Calculate the probability that Dyson is still solvent at the end of 2 years.
